
Problem 15.22 

1.) 

Determine the E-fld and the tension if the charge 
is             the mass is 5.8 grams and the angle 
is             .  θ = 37o
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This is a Newton’s Second Law problem.  
Starting with a f.b.d., we get: 

3.) 
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Fx :∑
            qE cosθ− T = ma =0

          ⇒    T = qE cosθ

                     = 68x10−6 C( ) 1.39x104 N/C( ) cos 37o( )
                     = .75 N
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Summing appropriately: 

Fy :∑
            qEsinθ− mg = ma =0

          ⇒    E = mg
qsinθ

                     =
5.8x10−3kg( ) 9.8 m/s2( )

68x10−6 C( )sin 37o

                     = 1.39x10−4  N/C


